XTECHORRE, BRERGIHENHYET,
Xtk T - HESRET 6500 HVET,

(202)

23

(D

5) (6 12
— LO
g = e .
ol
13
o @ 26 T4 NT— I TT3AEATI—T
25| ———— [k 1 | BRBEARENS
10 24] 949005 |#® 1 [#497 (B4R)
%ﬁ_‘ A 23| 135100 |§® T [%4% (ERR)
22| 139832 [vovv-4 1
3 21| 139791 |#-200v7 168
20 137600 [/ ZNF+v7 1
19| 011373 [ovy¥ 1 [P10
2 18| ——— |/ X 117Y-4f
17| 250236 |KR—Z7 kA 1A%
N 7 16] 139261 [EHnstn- 1|28
~ 15| ——— [EHit 1 [ 2248 (0.70~0.96MPa)
N 14 139756 [#4Kk> 1
@ 13| ———— [z by st= 1
12| 135648 |%2R 1 [#&, yuKv:5US304
11 Ry p 2
10 L= (¥4%) 1| 2%
9| ———— U= (9I) 1| Bfie%
8| 139722 [H4Avityty 1
7 Fyrod 1
6 65750y b 1
SHEAR (B117.4) 5 Wrribyi 1
=y 4 YPZi 1
@' 3 RIVTRF A 1 | ARTalf
2 M TEK 1
Bnbi trwvsraems) | 1 ARBS 1| hE: &8, Al : #BRE
fisizmerr  [No| mezEs BaLH lmm lﬁ I#
n& " B & [2020.10.22]R B[4 R| =#%
as| MPPL-037-00 351361361 g1 4=ABc) 3. oke (BER. &%) [RERE
| HxEHE4 BateE B ER BESREDNGE | GEREXGH £ E = XHEE ETAHKEA EThHiZ g BAES| HF25~45 [ —— IR E)
¥ [A-3.B-7. c[#158 (200)[3~5m (20T)| 2. 00MPa [-30~+40T| %4.80kg | 3. Oka | %4¥ &k (ABC) [HesixiNAx (h120)] BB TR  [ws&#k[ SH-10P | B




